
 

 

You specified the following parameters:  

filtertype  =  Butterworth  

passtype  =  Bandpass  

order  =  3  

corner1  =  8000  

corner2  =  11000  

impedance  =  50  

config  =  series_first  

simped  =   

timped  =   

matchq  =   

matchf  =   

minf  =  2000  

maxf  =  15000  

logmin  =   
 

 refine  =  yes  

R1  =  50  

L1  =  0.00265259098942434  

C1  =  1.05809e-07  

C2  =  2.12207e-06  

L2  =  0.000132262  

L3  =  0.00265258  

C3  =  1.05809e-07  

R2  =  50  
 

 

 

 

 

 

 

 


